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Inf}= vector[x_, v ] := {x"2, -y}

ini2)= StreamPlot[vector[x, y], {x, -5, 5}, {y, -5, 5}, PlotTheme -» "Detailed",
StreamPoints -» Fine, StreamColorFunction - "SunsetColors"]
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In@l= vector[x_, v ] ¢t= {xA"2-yr2, 2xx%xy}

inf4]= StreamPlot[vector[x, y], {x, -5, 5}, {y, -5, 5}, PlotTheme -» "Detailed",
StreamPoints -» Fine, StreamColorFunction -» "SunsetColors"]
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ni- (* Simulation of Rikitake system for problem 8d. «x)
2= W s=2

nE= @ e= 5

in# = ParametricPlot3D]
Evaluate[{x[t], y[t], z[t]} /. NDSolve[{x"[t] = ~uxXx[t] +Z[t] *xy[t],
y'[t] = -pu*xy[t] + (z[t] -a) *x[t], z'[t] = 1-x[t] xy[t], x[0] =0.1,
y[0] =0.0, z[0] == 0.0}, {x,y, z}, {t, 0, 200}, MaxSteps » Infinity]],
{t, ©, 200}, PlotPoints » 5000, PlotStyle » {Thin, Blue},
AxeslLabel -» {x, y, z}]
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